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General Instructions to Candidates :

l There is a 'Cool off time' of 15 minutes in addition to the writing time.

l Use the 'Cool off time' to get familiar with questions and to plan your
answers.

l Read the instructions carefully.

l Read the questions carefully before answering.

l Calculations, figures and graphs should be shown in the answer sheet itself.

l Malayalam version of the questions is also provided.

l Give equations wherever necessary.

l Electronic devices except nonprogrammable calculators are not allowed in
the Examination Hall.

v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:v]h|L¡À]W¥¨Ott RkLfO j]¡SÇw°¥:

l j]¡Ç]xVa yop¾]jV  kOrRo 15 o]j]ãV "WP¥ KLlV RRaU' DºLp]q]¨OU.

l "WP¥ KLlV RRaU' S\Lh|°¥ kq]\pRÕaLjOU D¾q°¥ ByPNfeU
R\áLjOU DkSpLY]¨OW.

l j]¡SÇw°¥ oOuOvjOU èÈLkP¡vÿU vLp]¨eU.

l D¾q°¥ IuOfOÐf]jV oOÒV S\Lh|°¥ èÈLkP¡‹U vLp]¨eU.

l We¨V  WPŸsOW¥, \]Nf°¥, NYLlOW¥, IÐ]v D¾qSkÕr]¤ fRÐ
DºLp]q]¨eU.

l S\Lh|°¥ ospLt¾]sOU j¤W]p]ŸOºV.

l Bvw|oOç òs¾V yovLW|°¥ RWLaO¨eU.

l SNkLNYLoOW¥ R\áLjLWL¾ WL¤¨OSsãrOW¥ Ku]RWpOç KqO
CsWVSNaLe]WV DkWqevOU kq}ƒLzLt]¤ DkSpLY]¨OvL¢ kLa]sæ.
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Answer all questions from

question numbers 1 to 8. Each

carry one score.

1. The colour of the sky and the sea

is  blue. This is an example for

the fallacy of ..........

a) Non observation

b) Mal observation

c) Universal mal observation

d) Individual mal observation

2. The method of tenacity is closely

linked with ..........

a) Uniformity

b) Stability

c) Our habits and believes

d) Authority

3. The literal meaning of the word

Philosophy is ............

a) Love of wisdom

b) Love of knowledge

c) Love of values

d) Love of truth

4. 'If it is rainy, then the ground

will be wet' – According to

traditional classification, the

given proposition represents ......

1 oOf¤ 8 vRqpOtt IsæL S\Lh|°¥¨OU

D¾qRouOfOW. KLSqLÐ]jOU 1 yVSWL¡

v}fU.

1. BWLw¾]R£pOU yoONh¾]R£pOU

j]rU j}spLeV. CT DhLzqeU JfV

lLsy]pOoLp] mÌRÕŸfLeV.

a) SjL¦ KmVy¡Svx¢

b) oL¤ KmVy¡Svx¢

c) pPe]SvuVy¤ oL¤

KmVy¡Svx¢

d) C¢c]v]^~¤ oL¤

KmVy¡Svx¢

2. hQd v]w~Ly¾]R£ q}f]pOoLp]

AaO¾ mÌU kOs¡¾OÐfV

.................. BeV.

a) y~qf

b) ò]qf

c) jÚORa w}s°tOU v]w~Ly°tOU

d) Bi]WLq]Wf

3. wmVhLjOyQfoLp] l]SsLyl] IÐ

vL¨]R£ A¡ÀU ................. BeV.

a) sT KLlV v]yVcU

b) sT KLlV SjLt^V

c) sT KLlV vLs|PyV

d) sT KLlV NaP¾V

4. 'If it is rainy, then the ground

will be wet'–IÐfV kqÒqLYf

q}f]p]sOtt v¡«}WqeojOyq]\ÿV

Jf]RjpLeV Nkf]j]i}Wq]¨OÐfV.

(8 × 1 = 8) (8 × 1 = 8)
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5. 'Flood is due to the curse of God'.

This is an example for ...........

Hypothesis.

6. The first step of Research

is .........

7. Find the symbol for implication

from the various symbols given

below.

( ), V, ,⊃i ∼

8. Find the odd one out.

a) Selection of the problem.

b) Data collection

c) Analysis and interpretation.

d) Truth and validity.

Answer all questions from

question numbers 9 to 13. Each

carries two scores.

9. Give an example for Universal

and Individual mal observation.

5. ""RvttRÕL¨¾]jV WLqeU

RRhvwLkoLeV' IÐfV .................

RRzSÕLf}y]y]jV DhLzqeoLeV.

6. ................. BeV YSvxe¾]R£

Bh|ZŸU.

7. fRu fÐ]q]¨OÐ Nkf}W°t]¤

j]ÐV CUkæ]S¨xjV AjOSpL^|oLp

Nkf}WU WRº¾OW.

( ), V, ,⊃i ∼

8. KãRÕŸf]Rj WRº¾OW.

a) Rysƒ¢ KLlV h SNkLmæU

b) cLãL WtWVx¢

c) AjLs]y]yV B¢cV

C£¡NkSŸx¢

d) NaP¾V B¢cV vLs]c]ã]

9 oOf¤ 13  vRqpOtt IsæL

S\Lh|°¥¨OU D¾qRouOfOW.

KLSqLÐ]jOU 2 yVSWL¡ v}fU.

9. pPe]SvuVy¤ oL¤ KmVy¡SvxjOU

C¢c]v]^~¤ oL¤ KmVy¡SvxjOU

AjOSpL^|oLp DhLzqe°¥

IuOfOW.

(5 × 2 = 10) (5 × 2 = 10)
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10. Identify the relationship

between X and Y from the set I

and II given below.

Mark P is sufficient cause.

Mark Q is necessary cause.

I. X – Electric shock

Y – Causes death

II. X – Presence of clouds

Y – Causes rain

11. Arrange the data given below

into appropriate columns.

l Deals with the operations of

human mind

l Science of mind

l Normative science

l Positive science

        Logic       Psychology

l .................... l ....................

l .................... l ....................

12. You are assigned to do a project

on the topic, "Impact of the

mobile phones in the reading

habit of students".

Construct a hypothesis for the

above topic.

13. Describe J. S. Mill's view of

causation.

10. fLRu fÐ]q]¨OÐ KÐV qºV

RyãOWt]¤ j]ÐV X, Y  IÐ]v

fÚ]sOtt mÌU yl]x|£V cause

BReË]¤ Af]jOSjRq P IÐOU

necessary cause BReË]¤ Q

IÐOU AapLtRÕaO¾OW.

I. X – Electric shock

Y – Causes death

II. X – Presence of clouds

Y – Causes rain

11. fLRu RWLaO¾ v]vq°Rt

AjOSpL^|oLp SWLt°t]¤

NWo}Wq]¨OW.

l ojOx|R£ ojô]R£ Nkv¡¾j

°Rt WOr]\ÿV Nkf]kLh]¨OÐO.

l ojô]R£ wLyVNfU

l SjL¡oLã}vV yp¢yV

l SkLy]ã}vV yp¢yV

        Logic       Psychology

l .................... l ....................

l .................... l ....................

12. j]°tORa WæLôV rPU SNk^WVa]R£

nLYoLp] "v]h|L¡À]WtORa

vLpjLw}s¾]¤ RoLRRm¤

SlLeOWtORa y~Li}jU' IÐ

v]xp¾]jV AjOSpL^|oLp KqO

RRzSÕLf}y]yV DºL¨OW.

13. SWLSyxRj yUmÌ]¨OÐ

R^. IyV. o]sæ]R£ WLuV\ÕLaV

v]whoL¨OW.
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Answer any four from question

numbers 14 to 18. Each carries

three scores.

14. 'Science is the study of facts'. It

is one of the characteristics of

science. List any other three

characteristics of science.

15. Draw a table showing the

different kinds of hypothesis.

16.

We know that the above

picture represents the

conversion. Write the rules of

conversion.

17. Jithin observed all the students

in a class and reached to
a conclusion that 'all of them
are good'.
But Rekha observed only few
active students and gave the
same reply.
Identify and distinguish the
different types of induction from
the above given example.

18. Construct partial and full contra

position of the following

proposition.

"No thinkers are cowards".

14  oOf¤ 18  vRqpOtt S\Lh|°t]¤

JRfË]sOU 4 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 3 yVSWL¡ v}fU.

14. "vyVfOfWRt¨Or]\ÿOtt kbjoLeV

wLyVNfU' IÐfV wLyVNf¾]R£ KqO

yv]SwxfpLeV. oãOtt JRfË]sOU

3 yv]SwxfW¥ IaOR¾uOfOW.

15. v|f|yVffqU RRzSÕLf}y]yOW¥

D¥R¨LttOÐ KqO kŸ]W

fáLrL¨OW.

16.

fÐ]q]¨OÐ \]NfU W¦Sv¡xRj

N k f ] j ] i } W q ] ¨ O Ð f L R e Ð V

joO¨r]pLU. j]°¥¨V

W¦Sv¡xR£ rPtOW¥ IuOfLSoL?

17. ^]f]¢ KqO WæLô]Rs oOuOv¢

v]h|L¡À]WRtpOU SjL¨]

"IsæLvqOU jsæfLeV' IÐV kr´O.

IÐL¤ SqX WOr\ÿV jsæ WOŸ]WRt

SjL¨] ASf An]NkLpU fRÐ

kr´O.

Cv qºOU JfOfqU C¢cƒ¢

BReÐV f]q]\ÿr]´V

Sv¡f]q]R\ÿuOfOW.

18. fLRu fÐ]q]¨OÐ RNkLSÕLy]xR£

partial and full SWL¦NaL

RkLy]x¢ DºL¨OW.

"No thinkers are cowards".

S P S P

(4 × 3 = 12) (4 × 3 = 12)
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19  oOf¤ 24  vRqpOtt S\Lh|°t]¤

JRfË]sOU 5 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 4 yVSWL¡ v}fU.

19.

oOWt]¤ fÐ]q]¨OÐ \]Nf¾]¤

j]ÐV y]SsæL^]y¾]R£ 4 l]YrOW¥

DºL¨OW.

20. KqO YSvxe NkNW]pp]¤ iLqLtU

ZŸ°¥ DºV. Avp]¤ j]ÐV

JRfË]sOU jLRs¹U

IaOR¾uOfOW.

21. kq}ƒe¾]R£pOU j]q}ƒe¾]

R£pOU v|f|Ly°tOU mÌ°tOU

WLe]¨OÐ KqO kŸ]W fáLrL¨OW.

22. P&NaP¾OU Q false&DU R&NaP¾OU

BReË]¤ fLRu fÐ]q]¨OÐv

pORa NaP¾V vLs|O WLeOW.

a) ( )p q r⊃ ∨

b) ( )p q r∨∼

23. wLyVNf}p j]po°¥ NkLms|¾]sL

¨OÐf]jV C¢cƒR£ v]v]i

ZŸ°t]sPRa WaÐOSkLWOÐO.

yp£]l]WV C¢cƒR£ 4 ZŸ°Rt

WOr]\ÿ V  KqO sZO WOr]ÕV

fáLrL¨OW.

24. 'Fever is caused by virus'. CT

NkyVfLvjp]¤ AÍ¡

s}joLp]q]¨OÐfV JfOfqU

RRzSÕLf}y]yLeV. j]°tORa

D¾qU yLiPWq]¨OW.

Answer any five from question

numbers 19 to 24. Each carries

four scores.

19.

Construct four kinds of figures

of syllogism from the given

picture.

20. There are several steps involved

in the research process. List any

four steps from them.

21. Prepare a table showing the

relation and difference between

experiment and observation.

22. If P is considered as true, Q is

considered as false and R  is

considered as true. Find the

truth value of the following :

a) ( )p q r⊃ ∨

b) ( )p q r∨∼

23. Scientific laws are established

through different steps of

induction. Write a short note on

the four steps of scientific

induction.

24. 'Fever is caused by virus'.

Identify the type of hypothesis

inherent in this statement.

Justify your answer.

(5 × 4 = 20) (5 × 4 = 20)
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Answer any two from question

numbers 25 to 27. Each carries

five scores.

25. 'Logic can be applied in every

field of life'. Substantiate your

answer.

26. 'A syllogism must contains three

and only three propositions'– It

is one of the rules of syllogism.

Prepare a write up on any other

five rules.

27. Prepare a discussion report on

the method of science to show

that the aim should be prove

scientific method as the best

method.

Answer question numbers 28 & 29.

Each carries six scores.

28. Prepare a seminar paper on the

topic, 'Mill's 'experimental

method' with suitable examples.

29. Find the opposite relation

between the categorical

propositions given below with

the help of squire of opposition.

"All birds are feathered

No birds are feathered"

Find other relations between

these propositions and explain.

25  oOf¤ 27  vRqpOtt S\Lh|°t]¤

JRfË]sOU 2 I¹¾]jV D¾qRouOfOW.

KLSqLÐ]jOU 5 yVSWL¡ v}fU.

25. "SsL^]WV ^}v]f¾]R£ yoyVfSoXs

Wt]sOU NkSpL^jRÕaOÐO'.

yo¡À]¨OW.

26. "KqO y]SsL^]y¾]¤ oPSÐ oPÐV

RNkLSÕLy]xjOW¥ oLNfSo

DºLvOWpOttP' CfV y]SsæL^]y¾]

R£ KqO NkiLj rPtLeV. oãV

JRfË]sOU 5 rPtOW¥ Aa°]p KqO

WOr]ÕV fáLrL¨OW.

27. "wLyVNf}pq}f]pLeV wq]pLp q}f]'

IÐV Rft]p]¨OÐf]jV

AjOSpL^|oLp \¡\ÿL r]SÕL¡ŸV

fáLrL¨OW.

28 DU 29 DU  S\Lh|°¥¨V D¾qU

IuOfOW. KLSqLÐ]jOU 6 yVSWL¡ v}fU.

28. o]sæ]R£ "kq}ƒeq}f]W¥' IÐ

v]xp¾]¤ DhLzqe°¥

D¥R¨Ltt]\ÿV KqO Ryo]jL¡ SkÕ¡

fáLrL¨OW.

29. fLRu RWLaO¾]q]¨OÐ WLãSYLr]

¨¤ RNkLSÕLy]xjOW¥ fÚ]sOtt

KLSÕLy]ãV r]Ssx¢yV yVW~p¡ KLlV

KLSÕLy]xR£ yzLpS¾LRa

WRº¾OW.

"All birds are feathered

No birds are feathered"

Cv fÚ]sOtt oãV mÌ°StRf

sæLRoÐV WRº¾] v]whoL¨OW.

(2 × 5 = 10) (2 × 5 = 10)

(2 × 6 = 12)
(2 × 6 = 12)
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30 DU 31 DU S\Lh|°t]¤ JRfË]sOU 1

jV oLNfU D¾qRouOfOW. KLSqLÐ]jOU 8

yVSWL¡ v}fU.

30. fLRu fÐ]q]¨OÐ RNkLSÕLy]xjO

W¥ Nkf}WLÄW qPk¾]Ss¨V

oLãOW.

l If you eat light supper,

then you will need few

medicines

l Black berry is either a mobile

phone or a fruit.

W¦^UYVx¢, c]^WVx¢,

CUkæ]S¨x¢ IÐ]vpORa NaP¾V

Sam]¥ vqpV¨OW.

31. a) \OvRa fÐ]q]¨OÐ

RNkLSÕLy]xj]Rs ymV^WVaV,

RNkc]S¨ãV SaoOW¥

f]q]\ÿr]´V IuOfOW.

"Some flowers are

beautiful....".

b) pPStuVyV y¡¨]t]R£

yzLpS¾LRa WLãSYLr]¨¤

RNkLSÕLy]xjOWtORa c]yVNa]m|Px¢

KLlV SaUyV v]wh}Wq]¨OW.

Answer any one from question

numbers 30 and 31, which carries

eight scores.

30. Change the following

proposition into its symbolic

form.

l If you eat light supper,

then you will need few

medicines

l Blackberry is either a mobile

phone or a fruit.

Construct truth tables for

conjunction, disjunction and

implication.

31. a) Can you identify the subject

and predicate terms in the

following proposition?

"Some flowers are

beautiful....".

b) Explain the distribution of

terms among categorical

propositions with the help of

Euler's circle.

(1 × 8 = 8) (1 × 8 = 8)

(1)

(1)

(6)

(1)

(1)

(6)

(2)
(2)

(6) (6)


